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In any A ABC, the following relationship holds :

a ( B+ C)+ b < C+ A)+ C ( A+ B>>6
brc csc2 csc2 cTa csc2 csc2 P csc2 csc2 >

Proposed by Zaza Mzhavanadze-Georgia
Solution 1 by Soumava Chakraborty-Kolkata-India

VAB,C>0,(A+B),(B+C),(C+A) form sides of a triangle
(+(A+B)+ (B+C) > (C+A)andanalogs) = VA + B,VB + C,VC + A form
sides of a triangle with area F (say) and 16F? =
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2 Oppenheim
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v AABC," =" iff A ABCis equilateral (QED)




ROMANIAN MATHEMATICAL MAGAZINE

Solution 2 by Mohamed Amine Ben Ajiba-Tanger-Morocco

By Mollweide’'s formula, we have

a sin% A
= > sin—. (and analogs
b+c cosPC 2 gs)
2

Then
B c B c
a B C csc + esco csc;  cscy AM—GM
2 (csc—+csc—>ZZ—A=Z ct = > Zz:e_
b+c 2 2 csc= csc- csc—
cyc cyc 2 cyc 2 2 cyc

Equality holds iff AABC is equilateral.



